0002071278297999

“2oO ERHEXY 002>

2015 4% 45 4 1
4 | ROBWZEZR L. 272U, S ERAEHE 95.

(1) B f(x) =z —logz OF/NMEZ KD £.
(2) a% 1LY KFVEHEL, ity =asinz (ogxg%)amiy:tanx (O§I<L)¢:c!:o'C

2
FHENSHD DOMMEN 1 —log2 THDL9D. RD (7), (1) ZHER L.

(7) adfEaz ke &.
(4) Dz xHoOEDIZ 1 Mg TTEDVMFEORFEE KD L.

(1) -f'l(x)z _'% x (@) ] 1
= E—l- '-_f_'(;-, -|0|+
x foll/|v|1 |7
“matRES). ToogaiBial (x=10¢F)
7) "
@ B Y=asinx t f=tanx 0 0<KX< T KEIT3XE0 31 e g
4 1B - E
AEZBz d tdH<y, Dofmtg SI2. o Y o
” _
5'=f asin A —=tan X dx )
0 i o
+ —3 X
o 0 o 7T
= [_ﬂCOS'x‘f'ﬂggIcasxl]o 2
= —acoso(+&,3(cosu)+a
-7, Asind = tand &Y, SZZ:;(““”“” =
sind 20 &), casd=-;j
SST A-{-fogk  : a-l-fga=(-lyg2 - 2-lega=2-hg2 D

[

Mk a>{Thizgns ®m’ia‘i’misﬂz%n5\_ F A= 2

not, K3 a 13 KE12F83-em A3,
ol
@ = (asinn) - tan'n dx
0

(M & a=2, cosd=5 &) d=% rgzov
z | ~cog 27, 1
fonfF e EE () 0

;(_-"},_‘9:'1127( ]3‘-
SAET 2R

1"
A
—
5N

r

1}
=
N
g
5
=
+
c.ulﬁ
S~—
\cj
1
=
i
]|
@l
A




